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The	Mechanics	of	Computing	the	Cost	of	
Capital

Cost of Equity Weight of 
equity Cost of Debt Weight 

of Debt

Risk free 
Rate

Risk Premium Risk free 
Rate Default Spread (1- tax rate)

Cost of Capital

X + X

+ +[ ]

=

What should we use as the risk free rate?
What equity risks are rewarded?
Should we scale equity risk across companies?
How do we measure the risk premium per unit of risk?

How do we estimate the default spread?
What tax rate do we use?

What are the 
weights that we 
attach to debt 
and equity?
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In	investment	analysis:	The	cost	of	capital	
as	a	hurdle	rate	&	opportunity	cost

The cost of capital for an investment

Should reflect the risk of the investment, not the entity taking the investment.
Should use a debt ratio that is reflective of the investment's cash flows.

The Hurdle Rate

Accounting Test
Return on invested capital 
(ROIC) > Cost of Capital

Time Weighted CF Test
NPV of the Project > 0

Time Weighted % Return
IRR > Cost of Capital

No risk subsidies
If you use the cost of capital of the 
company as your hurdle rate for all 
investments, risky investments (and 
businesses) will be subsidized by 
safe investments.(and businesses).

No debt subsidies
If you fund an investment 
disprportionately with debt, you 
are using the company's debt 
capacity to subsidize the 
investment.
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In	capital	structure:	The	cost	of	capital	as	
“optimizing” tool

The optimal debt ratio is the one at which the cost of capital is minimized 

As you borrow more, he 
equity in the firm will 
become more risky as 
financial leverage 
magnifies business risk. 
The cost of equity will 
increase.

Cost of Equity
Weight of 

equity
Pre-tax cost of debt (1- tax 

rate)
Weight 
of Debt

X + X

As you borrow more, 
your default risk as a 
firm will increase 
pushing up your cost 
of debt.

At some level of 
borrowing, your 
tax benefits may 
be put at risk, 
leading to a lower 
tax rate.

Bankruptcy costs are built into both the cost of equity the pre-
tax cost of debt

Tax benefit is
here

The trade off: As you use more debt, you replace more expensive equity with cheaper debt 
but you also increase the costs of equity and debt. The net effect will determine whether 

the cost of capital will increase, decrease or be unchanged as debt ratio changes.
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In	dividend	policy:	It	is	the	divining	rod	for	
returning	cash
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In	valuation,	it	is	the	mechanism	for	
adjusting	for	risk..

Assets Liabilities

Assets in Place Debt

Equity

Discount rate reflects the cost 
of raising both debt and equity 
financing, in proportion to their 
use

Growth Assets

Figure 5.6: Firm Valuation

Cash flows considered are 
cashflows from assets, 
prior to any debt payments
but after firm has 
reinvested to create growth 
assets

Present value is value of the entire firm, and reflects the value of 
all claims on the firm.
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Though	you	can	value	with	just	an	equity	
focus..

Assets Liabilities

Assets in Place Debt

Equity
Discount rate reflects only the 
cost of raising equity financingGrowth Assets

Figure 5.5: Equity Valuation

Cash flows considered are 
cashflows from assets, 
after debt payments and 
after making reinvestments 
needed for future growth

Present value is value of just the equity claims on the firm
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A	Template	for	Risk	Adjusting	Value

Expected Cash Flows Risk-adjusted 
Discount Rate Value

Company Specific Risks 
get reflected in the 

expected cash flows

Discount rate is adjusted for only the 
risk that cannot be diversified away 
(macro economic risk) by marginal 

investor

get discounted at to get Adjusted Value

Discrete risks (distress, nationalization, 
regulatory approval etc.) are brought in 

through probabilities and value 
consequences.

And probability 
adjusted to 
arrive at

For a public company

Company Specific Risks 
get reflected in the 

expected cash flows
Discount rate is adjusted (upwards) 
to reflect all risk that the investor in 
the private business is exposed to.

Discrete risks (distress, nationalization, 
regulatory approval etc.) are brought in 

through probabilities and value 
consequences.

Business Macro 
Risk Exposure

Country Macro 
Risk Exposure

Beta Country Risk Premium

Probability of 
discrete event

Value if event 
occursImplicit in 

numbers
Explicit (Senario 

analysis or 
Simulation)

Beta adjusted for 
total risk

Risk premium adjusted for 
company-specific risk

For a private business

Can be

X
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What	the	cost	of	capital	is	not..

1. It	is	not	the	cost	of	equity:	There	is	a	time	and	a	place	to	use	the	cost	of	
equity	and	a	time	a	place	for	the	cost	of	capital.	You	cannot	use	them	
interchangeably.

2. It	is	not	a	return	that	you	would	like	to	make:	Both	companies	and	
investors	mistake	their	“hopes” fore	expectations.	The	fact	that	you	
would	like	to	make	15%	is	nice	but	it	is	not	your	cost	of	capital.

3. It	is	not	a	receptacle	for	all	your	hopes	and	fears:	Some	analysts	take	the	
“risk	adjusting” in	the	discount	rate	too	far,	adjusting	it	for	any	and	all	
risks	in	the	company	and	their	“perception” of	those	risks.

4. It	is	not	a	mechanism	for	reverse	engineering	a	desired	value:	A	cost	of	
capital	is	not	that	discount	rate	that	yields	a	value	you	would	like	to	see.

5. It	is	not	the	most	important	input	in	your	valuation:	The	discount	rate	is	
an	input	into	a	discounted	cash	flow	valuation	but	it	is	definitely	not	the	
most	critical.

6. It	is	not	a	constant across	time,	companies	or	even	in	your	company’s	
valuation.
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A	Distribution	of	Cost	of	Capital


